## Unique Auctions Catalogue 21 Aug 2018

- 1 5 table lamps £10.00 £20.00
- 2 A shelf of glassware including vases & drinking glasses etc. £10.00 £20.00
- 3 A mixed lot of metalware including pewter £10.00 £20.00
- 4 3 Capo-Di-Monte figures £10.00 £20.00
- 5 4 boxes of collectors empty matchboxes £10.00 £20.00
- 6 A shelf of assorted tools £10.00 £20.00
- 7 A pine bedroom cabinet £15.00 £25.00
- 8 A shelf of miscellaneous boxes etc. £10.00 £20.00
- 9 3 shelves of kitchenware etc. £20.00 £30.00
- 10 A quantity of assorted cushions £10.00 £20.00
- 11 A shelf of figures including Capo-di-Monte style figures £10.00 £20.00
- 12 A shelf of fantasy prints £10.00 £20.00
- 13 A shelf of miscellaneous china including Sylvac wall plates & trinket pots etc. £10.00 £20.00
- 14 A box of assorted games etc. £10.00 £20.00
- 15 3 shelves of kitchenware including storage boxes, pots, pans & grilling machine etc. £10.00 £20.00
- 16 A modern record player £10.00 £20.00
- 17 An electric car mechanics clamp light & oil pump etc. £10.00 £20.00
- 18 8 dinner plates, 9 side plates & 9 dessert bowls £10.00 £20.00
- 19 A shelf of art & craft materials £10.00 £20.00
- 20 2 shelves of kitchenware including food mixer etc. £10.00 £20.00
- 21 A mixed lot of trinket pots & pill boxes etc. £10.00 £20.00
- 22 An owl, eagle & a duck etc. £10.00 £20.00
- 23 2 shelves of tea, dinnerware & clocks etc £10.00 £20.00
- 24 A box of soft toys £10.00 £20.00
- 25 A 225 watt subwoofer system (still in box) with a Superscope stereo cassette £15.00 £20.00
- 26 A pair of folding chairs & 1 other £10.00 £20.00
- 27 A linen bin & basketware etc. £10.00 £20.00
- 28 A blue glass trinket set & 2 scent bottles etc. £10.00 £20.00
- 29 2 horses pulling drays & a horse head £10.00 £20.00
- 30 A shelf of assorted figures including animals £10.00 £20.00
- 31 A sewing box & foot stool £10.00 £20.00
- 32 3 angle poise lamps & 1 other £10.00 £20.00

- 33 A shelf of assorted glassware including glass bowl etc £10.00 £20.00
- 34 3 shelves of kitchenware & glassware £10.00 £20.00
- 35 2 shopping trollies £10.00 £20.00
- 36 2 sylvac vases, 3 Withernsea vases & Wade tortoise etc. £10.00 £20.00
- 37 2 slide projectors & slides etc. £10.00 £20.00
- 38 A shelf of miscellaneous including horse brasses & clock etc. £10.00 £20.00
- 39 A quantity of speakers etc. £10.00 £20.00
- 40 4 table lamps £10.00 £20.00
- 41 A Kath Kidson Trio & toiletries etc. £10.00 £20.00
- 42 2 Capo-Di-Monte style figures £10.00 £20.00
- 43 A shelf of assorted glassware including trinket sets etc. £10.00 £20.00
- 44 A shelf of micellaneous including telephones & binoculars etc £10.00 £20.00
- 45 A shelf of tools including car axle stands etc. £10.00 £20.00
- 46 A quantity of soft toys £10.00 £20.00
- 47 A jug & basin set & a pair of vases A/F £10.00 £20.00
- 48 A shelf of assorted tea & dinnerware £10.00 £20.00
- 49 A sewing machine & accessories £15.00 £20.00
- 50 A shelf of miscellaneous wood, metalware & ceramics etc. Some A/F £10.00 £20.00
- 3 shelves of kitchenware etc. £10.00 £20.00
- 52 An angle poise work bench lamp & magnifier £10.00 £20.00
- 53 A trouser press, laundry items & pedal exerciser £10.00 £20.00
- 54 A quantity of small storage drawers for screws etc. £10.00 £20.00
- 55 A shelf of assorted pots £10.00 £20.00
- 56 A leather saddle & 2 riding hats £10.00 £20.00
- 57 2 German pottery vases & a dish £10.00 £20.00
- 58 A quantity of cutlery, enamel bread bin & coffee pot £10.00 £20.00
- 59 2 shelves of tea & dinnerware including tureen & meat platters etc. £10.00 £20.00
- A shelf of miscellaneous including coloured glass & pictures etc. £10.00 £20.00
- 61 A metal extending ladder £10.00 £20.00
- 62 A mixed lot including strimmer & tools etc. £10.00 £20.00
- 63 A quantity of books on art & artists materials £10.00 £20.00

1

- 64 A sun lounge chair £10.00 £20.00
- 65 2 bevel edged mirrors £10.00 £20.00
- 66 A Flymo electric garden vacuum & a hose pipe £10.00 £20.00
- 67 A quantity of bedding etc. £10.00 £20.00
- 68 A metal tub of spade heads £10.00 £20.00
- 69 A quantity of Christmas decorations £10.00 £20.00
- 70 A Singer sewing table top with 4 drawers (no legs) £10.00 £10.00
- 71 A quantity of garden planters etc. £10.00 £20.00
- 72 A mixed lot including vases etc. £10.00 £20.00
- 73 A rack of clothes including faux fur jackets etc. £10.00 £20.00
- 74 A rack of clothes including shirts etc. £10.00 £20.00
- 75 A server board £10.00 £20.00
- 76 A modern set of shelves £10.00 £20.00
- 77 A Miele dishwasher, oven & microwave £10.00 £20.00
- 78 A quantity of camper van accessories including wheel chocks, traction mat, picnic tables, fresh & waste water carriers & camping stove etc. £10.00 £20.00
- 79 A retro sideboard £10.00 £20.00
- 80 A quantity of miscellaneous including bookends & wooden items etc. £10.00 £20.00
- 81 A modern black leather chair £10.00 £20.00
- 82 A 2 drawer 2 door cupboard £10.00 £20.00
- 83 A child's Hello Kitty bike £10.00 £20.00
- 84 2 garden strimmers £10.00 £20.00
- 85 A quantity of tools including rakes etc. £10.00 £20.00
- A mixed lot including games, Christmas decorations & a large Santa etc. £10.00 £20.00
- 87 A Bowers & Wilkins speaker £10.00 £20.00
- 88 3 shelves of Dvd's, TV box sets, cassettes & CD's etc. £10.00 £20.00
- 89 A quantity of kitchen utensils £10.00 £20.00
- 90 A set of step ladders £10.00 £20.00
- 91 2 folding beds £10.00 £20.00
- 92 An Eclipse mobility scooter £10.00 £20.00
- 93 A Falcon Legacy mountain bike £10.00 £20.00
- 94 A 1950's Flatley clothes dryer. (working condition unknown) £10.00 £20.00
- 95 An Indesit spin dryer £10.00 £20.00
- 96 A quantity of children's toys & books including Peppa Pig & Barbie etc. £10.00 £20.00
- 97 A quantity of knitting materials etc. £10.00 £20.00
- 98 8 bound volumes on Two Wheels magazines & 4

- bound volumes of Green Fingers £10.00 £20.00
- 99 A vintage Singer sewing machine £10.00 £20.00
- 100 A Vax vacuum cleaner £10.00 £20.00
- 101 2 shelves of soft toys £10.00 £20.00
- 102 3 flat irons £10.00 £20.00
- 103 A quantity of records £10.00 £20.00
- 104 A quantity of wicker bins & baskets etc. £10.00 £20.00
- 105 3 shelves of animal figures £10.00 £20.00
- 106 4 boxes of assorted tools £10.00 £20.00
- 107 A quantity of handbags £10.00 £20.00
- 108 A box of various glasses, cases & lenses etc. £10.00 £20.00
- 109 A bookshelf & a clock £10.00 £20.00
- 110 A mixed lot including a Toshiba stereo sound system, cassettes & TV box sets etc. £10.00 £20.00
- 111 A model ship of the Thermopylae £10.00 £20.00
- 112 A shelf of miscellaneous including shredder etc. £10.00 £20.00
- 113 A Russell Hobbs microwave £10.00 £20.00
- 114 A quantity of rackets & balls etc. £10.00 £20.00
- An old wooden chest with hand tools etc (approximately 4ft long) £25.00 £35.00
- 116 A Daewood microwave £10.00 £20.00
- 117 A Candy fridge £10.00 £20.00
- 118 A White Knight washing machine £10.00 £20.00
- 119 A Goodmans vacuum cleaner £10.00 £20.00
- 120 A cool box & microwave £10.00 £20.00
- 121 A shelf of figures & figurines £10.00 £20.00
- 122 2 shelves of miscellaneous including kitchen utensils etc. £10.00 £20.00
- 123 A box of Dvd's & CD's etc. £10.00 £20.00
- 124 4 metal buckets £10.00 £20.00
- 125 A shelf of glassware including vases £10.00 £20.00
- 126 2 shelves of handbags £10.00 £20.00
- 127 A 1950's vase, 2 footstools & a woodwork plane £15.00 £25.00
- 128 A Vaporetto hoover with accessories £10.00 £20.00
- 129 4 hoovers including Samsung, Vax, Bosch & Max £10.00 £20.00
- 130 A 2 door cupboard sideboard with 4 drawers £10.00 £20.00
- 131 A mixed lot of women's accessories £10.00 £20.00
- 132 A microwave £10.00 £20.00
- 133 A Crusader tumble dryer £10.00 £20.00
- 134 A small unit with shelves £10.00 £20.00

2

135	A mixed lot including stoneware pots, Roman style urn, galvanised water can & hot water bottle £10.00 - £20.00	173 174	An adjustable swivel chair £10.00 - £20.00 A glass topped TV cabinet £10.00 - £20.00
136	A Sony screen & and an Optelec clear view monitor £10.00 - £20.00	175 176	A music centre cabinet £10.00 - £20.00  A Black & Decker hedge trimmer & 1 other £10.00
137	A bookshelf with 3 shelves £10.00 - £20.00	477	- £20.00
138	A quantity of silver plate & brassware including trays & tongs etc. £10.00 - £20.00	177 178	A quantity of kitchenalia £10.00 - £20.00  A quantity of miscellaneous including pictures £10.00 - £20.00
139	A white bookshelf with 3 shelves £10.00 - £20.00	170	
140	A Kindermann projector & screen £10.00 - £20.00	179	2 plant pots & an artificial bush/hedge £10.00 - £20.00
141	A Muddyfox BMX bike £10.00 - £20.00	180	An owl figure, polar bear figure & Buddha figure
142	A Turkish fringed rug £10.00 - £20.00		£10.00 - £20.00
143	A quantity of planters £10.00 - £20.00	181	A coffee grinder £10.00 - £20.00
144	A large Samsung fridge freezer with water & ice dispenser £40.00 - £60.00	182	A pair of painted bregere back chairs £10.00 - £20.00
145	A quantity of CD racks £10.00 - £20.00	183	A suitcase & a quantity of linen £10.00 - £20.00
146	A Miele washing machine £10.00 - £20.00	184	A set of lawn bowls (Thomas Taylor) £10.00 -
147	A LEC fridge freezer £10.00 - £20.00	105	£20.00
148	A quantity of ironing boards & clothes airers etc. £10.00 - £20.00	185 186	2 framed & glazed boat pictures £10.00 - £20.00 A porcelain hanging light & a floral shade £10.00 -
149	A jumpstart pack with torch & pump £10.00 -	100	£20.00
143	£20.00	187	A folding card table £10.00 - £20.00
150	A set of metal drawers £10.00 - £20.00	188	A rocking chair (arm A/F) £10.00 - £20.00
151	A collection of fishing rods £20.00 - £30.00	189	2 framed & glazed woven pictures of a village & water mill £10.00 - £20.00
152 153	A Fobco Star pedestal drill £10.00 - £20.00 A farmyard sack weighing machine £10.00 - £20.00	190	3 aviation prints & 2 group photographs £10.00 -
154	2 office chairs £10.00 - £20.00		£20.00
155	A drop leaf dining table £10.00 - £20.00	191	2 large framed & glazed posters £10.00 - £20.00
156	A garden bench £40.00 - £60.00	192	A quantity of pictures & a pencil drawing £10.00 -
157	A band saw £20.00 - £30.00	400	£20.00
158	A cast iron fire surround £10.00 - £20.00	193	A wood framed mirror A/F £10.00 - £20.00
159	A dark wood stained drop leaf dining table £10.00 - £20.00	194	A framed & glazed pencil drawing & 1 other £10.00 - £20.00
160	A dark wood stained bookshelf with 2 shelves	195	A quantity of miscellaneous including bags & shoes etc. £10.00 - £20.00
	£10.00 - £20.00	196	4 folding tables £10.00 - £20.00
161	An Empire Medifit power plate £10.00 - £20.00	197	A quantity of round bamboo covers £10.00 - £20.00
162	An old metal safe with key, J. Mather & Co, iron mongers & Co, Newark-On-Trent £40.00 - £60.00	198	A serving table £10.00 - £20.00
163	A quantity of garden tools £10.00 - £20.00	199	A quantity of folding chairs £10.00 - £20.00
164	4 painted wheel back chairs £10.00 - £20.00	200	A quantity of toys including pushichair etc. £10.00 - £20.00
165	4 dark wood chairs £10.00 - £20.00	201	A quantity of suitcases & holdalls £20.00 - £30.00
166	A child's chair £10.00 - £20.00	202	A mixed lot of stoneware including A.F.
167	A power routing table £40.00 - £60.00		Hardyment foot warmer, J.H. Wright flagon, James
168	A vintage Puch Sprint gents bike with stand & dynamo etc. £40.00 - £60.00	203	Keller & Sons marmalade pot etc. £10.00 - £20.00 A quantity of cuddly toys including Disney Mickey
169	A box of old dolls & teddies £10.00 - £20.00		Mouse Bandsman £10.00 - £20.00
170	A Super Sansom dumper truck £10.00 - £20.00	204	A shelf of plant pots £10.00 - £20.00
171	2 odd kitchen chairs £10.00 - £20.00	205	A HP Laserjet 100 colour printer & HP Officejet 7500 printer etc. (3 shelves) £10.00 - £20.00
172	A blue tub chair £10.00 - £20.00	206	A boxed prolectrix 8 stitch sewing machine £10.00

	- £20.00
207	A shelf of assorted glassware £10.00 - £20.00
208	A 60 piece Viners studio canteen of cutlery £10.00 - £20.00
209	A large jardiniere & a vase £20.00 - £30.00
210	3 large boxes of CD's £10.00 - £20.00
211	A holographic mountain scene £10.00 - £20.00
212	A modern wall clock £10.00 - £20.00
213	3 vintage photographs £10.00 - £20.00
214	A Yamaha Clavinova electric piano & quantity of music & records £80.00 - £120.00
215	A large quantity of electronics including Xbox 360, Wii items & phones etc. (3 large shelves) £40.00 - £60.00
216	A quantity of pictures, prints & engravings £10.00 - £20.00
217	A shelf of silver plate items £10.00 - £20.00
218	A wicker basket, jam pan & mincer with fittings £10.00 - £20.00
219	A pair of blue & white table lamps with shades 1 A/F £20.00 - £50.00
220	2 magazine racks £10.00 - £20.00
221	A quantity of Dvd's £10.00 - £20.00
222	A mixed lot of china including Beswick, Hornsea, Shorter & Son & Withernsea etc £10.00 - £20.00
223	A collection of cars £10.00 - £20.00
224	2 shelves of assorted bells £10.00 - £20.00
225	A shelf of assorted mugs £10.00 - £20.00
226	6 animal figures including Hamilton, Leonardo & Arden sculptures etc £10.00 - £20.00
227	8 bound volumes of The Game magazine by Marshall Cavendish & 1 entitled book of records £10.00 - £20.00
228	A shelf of glass bells £10.00 - £20.00
229	A shelf of wooden items £10.00 - £20.00
230	A sharp stereo £10.00 - £20.00
231	A modern wall clock £10.00 - £20.00
232	A penguin figure £10.00 - £20.00
233	A DW viewbox mark 2 lightbox £10.00 - £20.00
234	A 2 drawer filing cabinet £10.00 - £20.00
235	2 woven stools £10.00 - £20.00
236	A set of 6 mid 20th century glasses with hunting scene dipiction £10.00 - £20.00
237	A mixed lot of ephemera including an album of railway postcards £10.00 - £20.00
238	23 pieces of Doulton tea & dinnerware marked 'Doulton 2004 RD' & 16 pieces of Alfred Meakin teaware (some marked Springwood) £10.00 - £20.00

239 A quantity of glassware including large bowls &

vases etc. £10.00 - £20.00

	240	A large quantity of hardback & paperback books £10.00 - £20.00
.00	241	7 Delftware blue & white tiles £10.00 - £20.00
.00	242	2 portraits in metal frames & 1 landscape in metal frame £10.00 - £20.00
	243	7 shelves of shoes & boots £10.00 - £20.00
	244	A Gothic style table lamp & angel figure A/F £10.00 - £20.00
	245	2 old court teapots, a pair of lustre vases & a collbri lighter etc. £10.00 - £20.00
of	246	3 Gothic style 'Grim Reaper' scythes £10.00 - £20.00
60, 0 -	247	2 pairs of contemporary Staffordshire spaniels £15.00 - £20.00
20	248	5 various modern clocks £10.00 - £15.00
00 -	249	A mixed lot of coffee ware including Chinese & Japanese £10.00 - £20.00
	250	A quantity of mostly unboxed Die-Cast model toy cars including Lledo & Corgi £20.00 - £30.00
1	251	A box of DIY Practical Household magazines etc. £10.00 - £20.00
	252	A quantity of lamps £10.00 - £20.00
	253	A 4 piece plated tea set on tray £10.00 - £20.00
a, 0	254	A Honiton tea for 2 set & other items £10.00 - £20.00
O	255	A good lot of candles & candle holders £10.00 - £20.00
	256	A shelf of games & puzzles £10.00 - £20.00
ß.	257	A box of electrical extension leads etc. £10.00 - £30.00
	258	A quantity of porcelain collectors dolls £10.00 - £20.00
S	259	21 pieces of Royal Doulton Hampton Court teaware £10.00 - £20.00
	260	A pair of large silver plated fighting cocks/cockerals £10.00 - £20.00
	261	A Crown Staffordshire coffee set & 4 collectors plates £10.00 - £20.00
	262	3 bags of costume jewellery £10.00 - £20.00
	263	A box of Hot Car magazines etc. £10.00 - £20.00
	264	4 terrariums with pot pourri £10.00 - £20.00
~	265	A shelf of Die-Cast models including corgi £10.00 - £20.00
9	266	A quantity of games £10.00 - £20.00
	267	A quantity of music including piano & violin £10.00 - £20.00
1	268	A collection of play worn Die-Cast model toy vehicles including Lesney, Dinky, Corgi & Matchbox etc. £10.00 - £20.00
	269	4 glass vases, a jug, a wine carafe & a candlestick £10.00 - £20.00

270 A 4 piece tea set on tray, a 3 piece dressing table

	set and assorted items of brassware £10.00 - £20.00		including Wade PDM Worthington & a 1950's/60's Porton resuscitator £10.00 - £20.00
271	3 Eddie stobart trucks, an egg cup & 2 other items £10.00 - £20.00	301	A good collection of books including poetry & fiction etc. £10.00 - £20.00
272	2 19th century brass saucepans £10.00 - £20.00	302	A copper warming pan £10.00 - £20.00
273	A set of 8 Royal Worcester ramekins & serving	303	A bedroom chair with cane seat £10.00 - £20.00
274	bowl £10.00 - £20.00  A vintage black & white telephone & a 19th	304	A barometer, carved wood key rack, copperware etc. £10.00 - £20.00
	century potty £10.00 - £20.00	305	A quantity of brass including Imp door knocker,
275	A shelf of brass & copperware £10.00 - £20.00		horse brasses, chamber stick with glass shade
276	3 boxes of assorted photo frames £10.00 - £20.00		etc. £10.00 - £20.00
277	2 gilded elephants, gilded swans & silver coloured modern sculpture £10.00 - £20.00	306 307	A pair of lead glass panels A/F £10.00 - £20.00  A metal table with glass top £10.00 - £20.00
278	10 empty stamp albums £10.00 - £20.00	308	A marble condiment set £10.00 - £20.00
279	A box of Hancock & Sampson tureens etc. £10.00	309	3 framed and glazed share certificates £15.00 -
2.0	- £20.00	000	£20.00
280 281	A shelf of assorted bird figures £10.00 - £20.00 2 boxes of old books £10.00 - £20.00	310	An old Granille Johnson Bros tea and dinner ware £15.00 - £20.00
282	A geometric large Oriental ginger jar & 2 lidded	311	An old rocking chair £50.00 - £60.00
283	temple jars £10.00 - £20.00 4 shelves of assorted glassware & ceramics etc.	312	3 fishing reels including CFS map and Hardliner Pro LCS5200 £10.00 - £20.00
200	Including mirrored place mats & coaters £10.00 - £20.00	313	A wooden standard lamp with shade £15.00 - £25.00
284	A glass art fish & swan £10.00 - £20.00	314	A quantity of glass dishes £15.00 - £25.00
285	A mixed lot including figures & paperweights etc £10.00 - £20.00	315	A Minton style figure of 2 cherubs carrying water carier marked A/F (arm and part of pole missing
286	19 pieces of Japanese egg shell china tea ware	216	from 1 cherub) £10.00 - £20.00
287	with Geisha head in teacups £10.00 - £20.00	316 317	A collection of lighters some A/F £15.00 - £25.00 An oak arm chair £10.00 - £20.00
201	7 items of 'Chokin' ware including a pair of vases £10.00 - £20.00	318	A quantity of assorted comics £10.00 - £20.00
288	A quantity of tourist ware from Paris, Dubai &	319	A mixed lot of glass and china £10.00 - £20.00
	Australia etc. £10.00 - £20.00	320	A wood pheasant and 2 figures £10.00 - £20.00
289	A quantity of railway time tables & books £15.00 - £20.00	321	A copper oil lamp with funnel and globe shade £10.00 - £20.00
290	2 boxes of LP & 45rpm records £10.00 - £20.00	322	A pair of oriental fisherman £10.00 - £20.00
291	3 large lidded Oriental temple jars £10.00 - £20.00	323	A Kodak EK4 instant camera with box and
292	3 shelves of white tea & dinnerware including Coalport £10.00 - £20.00	323	Samsung VP-L900 8mm camcorder £10.00 - £20.00
293	A box of photo frames etc. £10.00 - £20.00	324	An assortment of china ornaments including Goss
294	4 shelves of good drinking glasses & cake stands etc. £10.00 - £20.00		crested ware, James Kent, Wedgwood Jasper ware, Wade etc. £10.00 - £20.00
295	A box of miscellaneous including a signed Lincoln City football £10.00 - £20.00	325	A quantity of Nirvana books, magazines and postcards £10.00 - £20.00
296	A quantity of radio's & Dvd player etc. £10.00 - £20.00	326	A cherub candle holder, 2 vases and a tissue holder £10.00 - £20.00
297	3 shisha pipes & spare parts £10.00 - £20.00	327	A mixed lot including tins, chess pieces, china
298	A quantity of silver plated trays & cruets etc. £10.00 - £20.00	328	etc. £10.00 - £20.00 3 boxes of assorted tools £10.00 - £20.00
299	A quantity of Arabic & Turkish items etc. £10.00 - £20.00	329	A box of miscellaneous including flat iron, shoe lasts etc. £10.00 - £20.00
300	A stoneware hot water bottle & O. Gleave Worsbro' Dale flaggon, 3 brewery water jugs	330	A new home sewing machine £10.00 - £20.00
	<b>-</b>		

331	12 framed and glazed prints £10.00 - £20.00
332	A box of records including LP's, 45's and 78's £15.00 - £25.00
333	4 boxes of books £10.00 - £20.00
334	A wicker chair and stool £15.00 - £25.00
335	A wooden walking stick with carved kiwi $£10.00 - £20.00$
336	A Pink Panther table lamp A/F £10.00 - £20.00
337	2 Ironstone jugs and 3 Limoges plates £10.00 - £20.00
338	A quantity of books £10.00 - £20.00
339	A tiled top coffee table £10.00 - £20.00
340	A quantity of decorating tools and accessories £10.00 - £20.00
341	2 aluminium barrels £10.00 - £20.00
342	A quantity of wristwatches £10.00 - £20.00
343	A quantity of Wade Whimsies £10.00 - £20.00
344	3 ladies pocket watches with one marked 935 silver £40.00 - £60.00
345	4 old cut throat razors £10.00 - £20.00
346	A silver metal filigree fan £10.00 - £20.00
347	An EMC Chevillard wrist watch £10.00 - £20.00
348	2 silver rings and a pair of silver earrings £10.00 - £20.00
349	A photo of a punk with policeman signed Johnny Rotten £30.00 - £40.00
350	A 1950's Medana Lever wrist watch with box, Ingersol pendant watch on chain with box and MuDu wrist watch £20.00 - £30.00
351	A gents accurist wrist watch £10.00 - £20.00
352	A quantity of vintage buttons £10.00 - £20.00
353	A box of watches including Tissot, TAG heuer etc $£10.00 - £20.00$
354	An Emperor Winston cigarette mini radio with case £10.00 - £20.00
355	A Sekonda stop watch £10.00 - £20.00
356	3 ladies pocket watches marked as 800 silver. £40.00 - £60.00
357	9 pairs assorted earrings in carry case. £10.00 - £20.00
358	A box of 20 wrist watches. £10.00 - £20.00
359	4 assorted wrist watches including HMT, Jawan, Para, Shock. £10.00 - £20.00
360	A mixed lot of silver, gold and costume jewellery including earrings, bangles, pendants, rings etc. £10.00 - £20.00
361	4 shoe pin cushions (missing cushions). £10.00 - £20.00
362	A Ferrari V.I.P book. £10.00 - £20.00

A quantity of watches. £10.00 - £20.00

364 A nunchuck and a replica New York Yankees bat. £10.00 - £20.00 365 A box of old photographs, £10.00 - £20.00 366 A pottery jelly mould. £10.00 - £20.00 367 A quantity of collectors spoons. £10.00 - £20.00 368 2 framed and glazed watercolours. 23.5cm x 13.5cm & 26cm x 14cm £10.00 - £20.00 369 2 boxes of costume jewellery and a quantity of coins. £10.00 - £20.00 370 2 items of west German pottery including a green bowl and a 'rumtopf' lidded jar. £20.00 - £30.00 A protector lamp and Lighting co. ltd. type GR65 371 miner's lamp. £10.00 - £20.00 3 continental porcelain figures. £10.00 - £20.00 372 A boxed Royal Doulton Rupert the Bear figure 373 'banging on his drum' with certificate. £10.00 -£20.00 374 A Royal Albert tom kitten with butterfly and a red tractor pottery money box. £10.00 - £20.00 375 A quantity of boxed cutlery, £10.00 - £20.00 376 7 metal paper press stamps. Gulf Pearl petrolium limited, Mayfair capital management. £10.00 -£20.00 2 boxes of assorted costume jewellery. £10.00 -377 £20.00 A quantity of jewellery, a brooch and a watch. 378 £10.00 - £20.00 379 15 First Day Covers including coin covers. £10.00 -£20.00 A quantity of china including miniature animals, 380 two 'parian' seated figures. £10.00 - £20.00 A quantity of Axminster saws and leather pouch. 381 £10.00 - £20.00 382 A quantity of assorted postcards, mostly modern. £10.00 - £20.00 A large quantity of coins, mostly British copper. 383 £10.00 - £20.00 A mixed lot, including cased sets of costume 384 jewellery and watches, ladies watches etc. £20.00 - £30.00 385 A mixed lot including costume jewellery, postcards etc. £10.00 - £20.00 A box of mixed British and foreign coins. £10.00 -386 £20.00 387 A quantity of British coins - 47 crowns, 15 five shillings and 17 1951 festival of Britain. £10.00 -£20.00 388 An electric fire with surround £10.00 - £20.00 389 A quantity of assorted glassware including decanters, comports & wine glasses etc. £10.00 -£20.00

6

BidMaster Office

363

	published by Marshal Cavendish Ltd 1976 £10.00 - £20.00		table, 2 stools & a small set of shelves £10.00 - £20.00
392	38 pieces of Alfred Meakin Brierley tea, coffee &	425	A large oak sideboard £10.00 - £20.00
000	dinnerware £15.00 - £25.00	426	An earthenware figure signed 'Reuben Ugbine
393	2 modern table lamps £10.00 - £20.00	407	Nigeria 2001' £10.00 - £20.00
394	An old tin trunk & contents £10.00 - £20.00	427	A Sony music centre in music cabinet £10.00 - £20.00
395	A box of die-cast toys £10.00 - £20.00	428	2 modern desk lamps £10.00 - £20.00
396	An LG TV & Dvd player £10.00 - £20.00	429	A display cabinet £10.00 - £20.00
397	A quantity of wooden trains including a educational come apart example £10.00 - £20.00	430	3 Eastern rugs & a wood gourd £10.00 - £20.00
398	A wooden figure of a man £10.00 - £20.00	431	A 2 door wooden cabinet £10.00 - £20.00
399	A tiled top side table £10.00 - £20.00	432	A wooden standard lamp £15.00 - £25.00
400	A Victorian box & 2 other boxes £15.00 - £25.00	433	3 walking sticks etc £10.00 - £20.00
401	A bottle of wine in the shape of an elephant £10.00	434	A modern drop leaf table £10.00 - £20.00
	- £20.00	435	2 table lamps with shades £10.00 - £20.00
402	6 old commemorative cups & mugs George IV & V (2 scarce designs) £10.00 - £20.00	436	A white set of 6 drawers & a matching set of 3 drawers £10.00 - £20.00
403	A pair of Victorian urns £10.00 - £20.00	437	5 assorted Oriental vases £10.00 - £20.00
404	A mid 20th century child's doll A/F £10.00 - £20.00	438	A set of shelves £10.00 - £20.00
405	A pair of Samsung speakers £10.00 - £20.00	439	A good collection of frogs £10.00 - £20.00
406	A toolbox with sewing materials £10.00 - £20.00	440	A good lot of beach items £10.00 - £20.00
407	A quantity of Royal commemorative items including magazines etc. £10.00 - £20.00	441	A Johnson Brothers Eternal Beau dinner service & a cased set of spoons £10.00 - £20.00
408	A quantity of candlesticks, tea & coffee pots & goblets etc. £10.00 - £20.00	442	A quantity of games, golf balls & tees £10.00 - £20.00
409	A small side table £10.00 - £20.00	443	A sewing box & contents £10.00 - £20.00
410	A 1937 Every boys hobby annual, Railway Wonders & 1940 Our Air force etc. £10.00 - £20.00	444	A quantity of cased cutlery, Epns biscuit barrel & a child's washboard £10.00 - £20.00
411	A mixed lot of china & glass including Sylvac &	445	A vintage imperial 66 typewriter £10.00 - £20.00
440	Paragon teaware etc. £10.00 - £20.00	446	A tin trunk with contents £10.00 - £20.00
412	A fold over card table £10.00 - £20.00	447	An Imperial typewriter £10.00 - £20.00
413	6 The tales of Honeysuckle Hill Regency Fine Arts in tins £10.00 - £20.00	448	3 boxes of assorted books including 1st editions £10.00 - £20.00
414	A quantity of gardening items including planters & obelisk etc. £10.00 - £20.00	449	A quantity of 1970's comics, Thunderbirds figurines & unopened Monopoly game etc. £10.00 -
415	A quantity of china including Paragon & Coalport etc. £10.00 - £20.00	450	£20.00 A ladies armchair £10.00 - £20.00
416	A boxed bread maker, stainless steel serving	451	A wooden walking stick £10.00 - £20.00
	platters & coffee perculator jugs £10.00 - £20.00	452	A drop leaf dining table £10.00 - £20.00
417	A large dolls house with a large quantity of children's toys, shoes, books & Dvd's etc. £10.00 - £20.00	453	A Singer sewing machine with Egyptian design £10.00 - £20.00
418	A cased Dansette record player £10.00 - £20.00	454	A box of various pictures £10.00 - £20.00
419	2 candlewick blankets & 1 other £10.00 - £20.00	455	A Lloyd loom style chair £10.00 - £20.00
420	A modern dressing table £10.00 - £20.00	456	2 hunting horns, 1 being copper £10.00 - £20.00
421	A quantity of cut glass items including decanters £20.00 - £30.00	457	An octagonal glass topped side table £10.00 - £20.00
422	A lava lamp £10.00 - £20.00	458	A collection of shoe ornaments including china,
423	5 carboy's & wine making materials £10.00 -		brass & crested ware £25.00 - £35.00
	£20.00	459	A glass topped side table £10.00 - £20.00
424	4 pieces of wooden furniture including drop leaf	460	A quantity of sheet music £10.00 - £20.00
BidMaster	Office 7		

461	2 small storage stools with dolls £10.00 - £20.00	495	A set of 4 Renault steel wheels, 15", part No: 7701410237 £10.00 - £20.00
462	A large stone planter £10.00 - £20.00	496	A pine display cabinet £10.00 - £20.00
463	An ornamental Grecian urn water feature (no pump) £10.00 - £20.00	497	A large quantity of wicker baskets including
464	A dark wood stained TV cabinet £10.00 - £20.00	400	beehive nesting box £10.00 - £20.00
465	A mixed lot including J.H. Wright & Co Ltd Lincoln	498	A 1930's oak ply chest of drawers £10.00 - £20.00
400	stoneware jar & Wade whisky bell £10.00 - £20.00	499	A boxed jelly fish aquarium £10.00 - £20.00
466	An oak 2 drawer chest £10.00 - £20.00	500	2 wooden storage/cube shelves with HiFi amplifier unit, CD player & Dvd player £10.00 - £20.00
467	3 blue Willow pattern platters £10.00 - £20.00	501	A vintage cased canteen of cutlery £10.00 - £20.00
468	A dark wood stained TV display stand £10.00 - £20.00	502	A quantity of brass & copper including hunting
469	2 three tier what not display stands £10.00 - £20.00	503	horn & firescreen etc. £10.00 - £20.00  A quantity of assorted pictures including prints,
470	A selection of Epns cutlery & dishes etc. £15.00 - £25.00		sketches, drawings & watercolours etc. £10.00 - £20.00
471	A quantity of Die-cast including Corgi & tin plate collectors vehicles £10.00 - £20.00	504	A collection of soft toys including Sarah Lee £10.00 - £20.00
472	A dark wood stained sideboard £10.00 - £20.00	505	A wrought iron swinging vegetable rack & 1 other £10.00 - £20.00
473	A shabby chic painted coffee table with glass top £10.00 - £20.00	506	A quantity of copper/brass & pewter £10.00 - £20.00
474	A small jug & bowl set, Masons jug & a Bowcath pottery lidded jar etc £10.00 - £20.00	507	A pine effect double pedestal desk/dressing table £10.00 - £20.00
475	A teak effect bureau £10.00 - £20.00	508	A quantity of 1982/83 football programs £10.00 -
476	A shooting stick, barometer, biscuit barrel & a juicer £20.00 - £30.00		£20.00
477	A stag 3 drawer chest with glass top £10.00 -	509	An old stool £10.00 - £20.00
	£20.00	510	A green painted 6 drawer chest £10.00 - £20.00
478	A George bear, 2 children's musical boxes & a pair of Tang style horses £10.00 - £20.00	511	An art deco scallop cut glass mirror & 2 others £10.00 - £20.00
479	A teak effect nest of 2 tables £10.00 - £20.00	512	A collection of vintage baby clothes £10.00 - £20.00
480	A quantity of cake stands etc. £10.00 - £20.00	513	4 brushed stainless steel wall lights and a 4
481	A black ash effect coffee table £10.00 - £20.00	313	branch matching ceiling light £10.00 - £20.00
482	An Alfreton & Belper journal from 1904 £30.00 - £40.00	514	A deep buttoned upholstered teak effect stool £10.00 - £20.00
483	A pine coffee table £10.00 - £20.00	515	A quantity of table lamps etc. £10.00 - £20.00
484	A box of jewellery display stands £10.00 - £20.00	516	A white melamine 2 drawer chest £10.00 - £20.00
485	21 pieces of Roslyn china teaware & 31 pieces of Melba china teaware £15.00 - £25.00	517	A dark wood stained 3 drawer chest £10.00 - £20.00
486	A pine 2 over 3 chest of drawers £10.00 - £20.00	518	2 teak bedside chest of drawers £10.00 - £20.00
487	4 glazed stoneware vases £10.00 - £20.00	519	A quantity of books on History etc. £10.00 - £20.00
488	2 pairs of cased binoculars & an Archos 43	520	2 magazine racks £10.00 - £20.00
400	internet tablet £10.00 - £20.00	521	A collection of children's annuals & books
489 490	A Victorian brass fender £10.00 - £20.00 2 tubs of vintage glass marbles £10.00 - £20.00		including Dr Who, Enid Blyton & Famous Five etc. £10.00 - £20.00
490 491	A Westminster radiogram £10.00 - £20.00	522	A quantity of shoe horns £10.00 - £20.00
491	2 screw adjustable tripod stools, 2 mantle clocks	523	A quantity of British & Foreign postcards £10.00 -
	& binoculars £10.00 - £20.00		£20.00
493	A teak stained coffee table £10.00 - £20.00	524	A Viewmaster 3D £10.00 - £20.00
494	A teak stained table with carved legs £10.00 - £20.00	525	A small round barometer £10.00 - £20.00
	220.00	526	A quantity of cricket memorabelia including signed

	ephemera £10.00 - £20.00	556	A winter scene on board £10.00 - £20.00
527	15 volumes of Chambers encyclopedia £10.00 - £20.00	557	A quantity of Horse & Jockey collectors plates with certificates £10.00 - £20.00
528 529	A quantity of angel figurines etc. £10.00 - £20.00 A vintage sledge £10.00 - £20.00	558	Approximately 100 books including 1st editions £10.00 - £20.00
530	A large quantity of china, oriental plates, china cat & Leonardo figure etc. (3 shelves) £25.00 - £35.00	559	A collection of race form note books & chase form annuals, mainly 1990's £20.00 - £30.00
531	A quantity of Dvd's etc. £10.00 - £20.00	560	A jar & 2 pestle & mortars £10.00 - £20.00
532	A quantity of assorted children's annuals including Rupert the Bear, Dandy, Beano & Boys Own etc.	561	A teak effect wall unit £10.00 - £20.00
	£10.00 - £20.00	562	A bar table & stool, chrome & black hat stand & a
533	A Movilux 8B projector £10.00 - £20.00		collection of wire framed storage racks & shelving £10.00 - £20.00
534	A Kustom amplifier KPM4080 powered mixer, 80	563	An oval wall mirror £10.00 - £20.00
	watt mosfet & a pair of Kustom speakers. Model KSC10 £40.00 - £60.00	564	A mid 20th century oak fireplace surround £10.00 -
535	A shelf of assorted die-cast toys £10.00 - £0.00		£20.00
536	A large collection of romance fiction books, hard back & soft back - Cookson & Dickinson etc.	565	3 small pieces of wicker furniture including a table £10.00 - £20.00
	£10.00 - £20.00	566	A framed & glazed coastal scene £10.00 - £20.00
537	A miscellaneous lot including paperweights, Worcester coddler, engraved dish & trinket boxes	567	A quantity of silver plated items including toast rack etc. £10.00 - £20.00
500	etc. £10.00 - £20.00	568	A 2 door 2 drawer sideboard £10.00 - £20.00
538	A box of pewter items including tankards & teapots etc. £10.00 - £20.00	569	2 framed & glazed architectural prints £10.00 - £20.00
539	A mixed lot including vintage straw filled teddy bear etc. £10.00 - £20.00	570	A 2 seater sofa with flower print £10.00 - £20.00
540	A quantity of umbrellas & walking sticks etc.	571	2 airbeds etc. £10.00 - £20.00
	£10.00 - £20.00	572	A cream 2 seater leather sofa £10.00 - £20.00
541	A quantity of James Bond Dvd's & video's etc. £10.00 - £20.00	573	2 Auguste Rodin mixed media studies £10.00 - £20.00
542	8 Coalport collectors plates £10.00 - £20.00	574	A cuckoo clock with 3 assorted weights £10.00 -
543	A quantity of miscellaneous including ebony mirror	E7E	£20.00
	& brass stove etc. £10.00 - £20.00	575 576	A long framed mirror £10.00 - £20.00
544	A quantity of 1960's/70's children's annuals including Flash Gordon, Topper, Captain Scarlet Angels, Hotspur & Star Wars etc. £10.00 - £20.00	576	A large wooden framed mirror with carved top piece £10.00 - £20.00
545	An electric outdoor garden hanging light £45.00 -	577	A wooden framed mirror £10.00 - £20.00
	£55.00	578	A vintage Frister & Rossman sewing machine £10.00 - £20.00
546	A quantity of wine & champagne etc. £10.00 - £20.00	579	A leopard print boot table lamp £10.00 - £20.00
547	4 table lamps £10.00 - £20.00	580	A 5 piece display/sideboard £10.00 - £20.00
548	A 2 drawer office desk £10.00 - £20.00	581	6 items of wickerware including baskets £10.00 - £20.00
549	A quantity of planters & vases etc. £10.00 - £20.00	582	A suspended metal meat hook cradle £10.00 -
550	An office desk £10.00 - £20.00		£20.00
551	A Panasonic record player with 2 speakers £10.00 - £20.00	583	A matching single & double ceramic & wrought iron hanging lamps £10.00 - £20.00
552	A set of metal bathroom shelves with perfumes	584	A pair of book shelves £10.00 - £20.00
	etc. £10.00 - £20.00	585	A quantity of books on RAF & aviation including
553	A modern mirror £10.00 - £20.00	500	Lincolnshire related etc. £10.00 - £20.00
554	A Milbro Universal fishing rod fly/blat/spinning combination, 1950's £10.00 - £20.00	586	A collection of vintage toys including a boxed Vulcan Countess sewing machine, a child's petite typewriter, dolls & Rupert book etc. £20.00 -
555	2 pairs of table lamps £10.00 - £20.00		£30.00

9

587	2 French scenic seriolithograph prints, one by Fanch Ledan the other by Jean Claude Picot, both certificated in USA (Parkwest Gallery, Michigan) £10.00 - £20.00
588	A mixed lot including decanters etc. £10.00 - £20.00
589	A pair of 3 drawer bedside cabinets £10.00 - £20.00
590	2 framed 3D abstract art pictures (both 90cm x 40cm) £10.00 - £20.00
591	A dark wood stained bureau £10.00 - £20.00
592	A ladderback bedroom chair £10.00 - £20.00
593	A blue 3 seater & 2 seater leather sofa £10.00 - £20.00
594	A quantity of cushions £10.00 - £20.00
595	An Oriental embroidered picture of a peacock £10.00 - £20.00
596	4 various rugs £10.00 - £20.00
597	4 various pictures including woodland & winter scene £10.00 - £20.00
598	4 framed & glazed prints of ink & watercolour sea views £10.00 - £20.00
599	4 framed & glazed pictures of exotic sea shells £10.00 - £20.00
600	A 4 piece office suite including tub sofas £10.00 - £20.00
601	2 wooden office drawers & a set of plastic storage drawers £10.00 - £20.00
602	4 assorted fishing rods including Chapman special Trent Feeder, Drennan series & puddle chucker etc. £20.00 - £30.00
603	A wooden magazine rack & a tea trolley £10.00 - £20.00
604	A 3 drawer chest of drawers £10.00 - £20.00
605	A 6 drawer teak effect chest of drawers £10.00 - £20.00
606	A modern standard lamp £10.00 - £20.00
607	
	A hall table with leather insert top £10.00 - £20.00
608	·
608 609	A hall table with leather insert top £10.00 - £20.00
	A hall table with leather insert top £10.00 - £20.00 A modern dark wood TV cabinet £10.00 - £20.00
609	A hall table with leather insert top £10.00 - £20.00  A modern dark wood TV cabinet £10.00 - £20.00  A small leather chair £10.00 - £20.00
609 610	A hall table with leather insert top £10.00 - £20.00 A modern dark wood TV cabinet £10.00 - £20.00 A small leather chair £10.00 - £20.00 A painted wooden side table £10.00 - £20.00 2 bedside lamps (1 shade damaged) £10.00 -
609 610 611	A hall table with leather insert top £10.00 - £20.00  A modern dark wood TV cabinet £10.00 - £20.00  A small leather chair £10.00 - £20.00  A painted wooden side table £10.00 - £20.00  2 bedside lamps (1 shade damaged) £10.00 - £20.00
609 610 611 612	A hall table with leather insert top £10.00 - £20.00  A modern dark wood TV cabinet £10.00 - £20.00  A small leather chair £10.00 - £20.00  A painted wooden side table £10.00 - £20.00  2 bedside lamps (1 shade damaged) £10.00 - £20.00  A mahogany chest of drawers £10.00 - £20.00
609 610 611 612 613	A hall table with leather insert top £10.00 - £20.00  A modern dark wood TV cabinet £10.00 - £20.00  A small leather chair £10.00 - £20.00  A painted wooden side table £10.00 - £20.00  2 bedside lamps (1 shade damaged) £10.00 - £20.00  A mahogany chest of drawers £10.00 - £20.00  A leather framed mirror £10.00 - £20.00  A Philips stacking Hi-Fi system & speakers
609 610 611 612 613 614	A hall table with leather insert top £10.00 - £20.00  A modern dark wood TV cabinet £10.00 - £20.00  A small leather chair £10.00 - £20.00  A painted wooden side table £10.00 - £20.00  2 bedside lamps (1 shade damaged) £10.00 - £20.00  A mahogany chest of drawers £10.00 - £20.00  A leather framed mirror £10.00 - £20.00  A Philips stacking Hi-Fi system & speakers £10.00 - £20.00
609 610 611 612 613 614	A hall table with leather insert top £10.00 - £20.00  A modern dark wood TV cabinet £10.00 - £20.00  A small leather chair £10.00 - £20.00  A painted wooden side table £10.00 - £20.00  2 bedside lamps (1 shade damaged) £10.00 - £20.00  A mahogany chest of drawers £10.00 - £20.00  A leather framed mirror £10.00 - £20.00  A Philips stacking Hi-Fi system & speakers £10.00 - £20.00  A green fabric arm chair £10.00 - £20.00

Courthouse £10.00 - £20.00 619 A Victorian part tea set £10.00 - £20.00 A Masonic brass trivet & an etched jardiniere 620 £10.00 - £20.00 621 A quantity of floral vases £10.00 - £20.00 A Victorian brass bound writing box A/F & a poker 622 work tray £10.00 - £20.00 623 A set of soapstone hippo carving knives, scientific set & a brass kettle etc. £10.00 - £20.00 624 A large quantity of 45rpm single records £50.00 -£60.00 625 A mixed lot of china figures including Devonware etc. £10.00 - £20.00 626 A box of camera equipment £10.00 - £20.00 627 A bag of fabrics/upholstery etc. £10.00 - £20.00 628 A red 3 seater sofa with large foot rest £10.00 -£20.00 629 A beige floral 3 piece suite £10.00 - £20.00 630 A light blue armchair £10.00 - £20.00 A grev/matte armchair £10.00 - £20.00 631 632 A quantity of wooden items including owl & barometer etc. £10.00 - £20.00 633 A quantity of Middle Eastern themed fabrics/wall hanging £10.00 - £20.00 A pair of stain glass lamps £10.00 - £20.00 634 635 A modern brass footed coffee table £10.00 - £20.00 636 A small oval top table £10.00 - £20.00 637 A large mahogany heavy dining table & 5 chairs £10.00 - £20.00